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WBRTE Y T OB ER K (Ba/kg)
i H BT BHEH AFH 134 137 RN
&k X
1 JFEARLWET (FB) S N 4H5H 5H24H] 2.2°Kik 18.3 18
2 JFEARLT (B7) [ N 4750 5H24H| 1.3Kj# 9.31 9.3
3 JEARLW=T (E) FET(HE) 4A10H 5H24H]  2.3K0m 10.5 11
4 JEARLW=T (E) FET R r &) 4A10H 5H24H]  1.7Km 5.90 5.9
5 JEARLW=T (E) FET (EEF) 47 10H 5H24H]  1.9K0m 11.4 11
6 JEARLW=T (F) FraE 4A10H 5H24H]  1.5K0m 6.23 6.2
7 JFEARLWZT (B7) Fra (HE) 4710H 5H24H]  1.3K0m 1. 2K 2.5k i
8 JFEARLZT (B7) FEm(PHE) 47 10H 5H24H]  1.6Km 16.6 17
9 JFEARLWZT (B7) FEd Ry &) 47 10H 5H24H]  1.5Km 7.21 7.2
10 JEARLWT (§E) Gt (EESF) 47100 5H24H 1.51 17.7 19
11 JFEARLWZT (87) Fra 47 10H 5H24H]  1.6K0m 14.1 14
12 AL (87) AR 4H17H 5H24H| 1.3Kik 15K 2.8 K1
13 HLE3E (Pr~A) N 4722H 5H24H]  3.4Km 6.20 6.2
14 1L (U7E) /N LT 4722H 5H24H]  4.2Km 44K 8.6 K7
15 MEICFS) R 4722H 5H24H]  4.0K3m 5.2 K71 9.2k
16 MEICHS) EEaiil 5H9H 6H13H] 5.6Km 5.09 5.1
17 MEACEIE)) RNt 5H9H 6H13H] 5.8Km 8.20 8.2
18 | WAEXDI (EV/HL3EF) ST 8H30H 9H4H| 4.TKH 5.05 5.1
19| BAEZOZ(ZIAaALTF) T 8H30H 9H4H]| 4.1KH 5.0 A it 9. 1At
20 XD (VALTEYT) /N BT 8H30H 9H4H[ 3.4k 5. 10 8.5
21 WAEXDZ (HTINY) /INLET 8H30H 9H4n 9.46 185 190
22 | MAEXDZ (EV /L 3Z) I 8H30H 9H4H| 5.9k 6.2 i 124
23 TAXDZ (Y HEA) Bl 9H10H 9HI12H]| 5.4k 59.2 59
24 | BAEXOZ (EV /AL 3ZT) =R 9H10H 9H12H] 5.6Km 7.91 7.9
25 | BAEZOZ(TINFATF) [t 9H10H 9H12H 3.99 68.7 73
26| BAEXDZ SV REY) CE==1ii 9A10H 9H12H| 5.0 27.5 28
27 WAEXDZ (T RE7) [ 9H10H 9H12H 6.01 144 150
28 ERA (/) s 9H4H 10H21H] 1.3k 12K 2.5 A1
29 R (/) i 9A17H 107218 1RG4 1.4 2.5K71
30 | BAZOZ (FranUgy) Eelie o7 10/8H 11H28H] 4.5k 3.8 8.3 AT
31| BAEXDOZ(=HUNIZY) Fiatakin 10A8H 11H28H]  4.1K0 5.2 K71 9.3k
32 BAXDZ (7)) el 7 1078H 11A28A| 4.6K0f 6.12 6.1
33 JFEARLWET () [N 12H9H 1H17H| 2.3K7 34 34
34 JFEARLT (B7) [ N 12H9H 1H17H| 15K 16.1 16
35 ERA (&) RNt 12J110H LHITH]  L4KG 11.0 11
36 JEARLW=T (E) Fra (HE) 12A11H LHITH]  L4KG 1.8 K] 3.2 K35
37 JEAARLW=T (E) FEm(PHE) 127 11H LHITH]  LOKG 12.3 12
38 JEARLW=T (F) B (R¥sr ) 127 11H LHITH] 13K 10.7 11
39 JEARLW=T (E) FET (EEF) 127 11H LHITH] 16K 14.7 15
40 JEARLW=T (F) it 12 11H LHITH] 18K 13.7 14
41 JFEARLWET () AL T 127111 LH17H|  LIKR 1.6 2. TR
42 JFEARLWZT (B7) Frad (HE) 127 11H LHITH] 13K 1.39 1.4
43 AR (87) FEm(EHE) 127 11H LHITH] 15K 14.0 14
44 JFEARLWZT (87) Bra (Rys ) 127 11H LHITH]  1.2K0% 7.51 7.5
45 JEARLW=T (§E) Gt (EEF) 127111 1J17H 1.33 17.9 19
46 JFEARLZT (B7) it 127 11H LHITHE] LIRS 19.0 19
47 JFEARLT (B7) A T 127111 LH17H| 14K 1.5 2.9 K
48 EREA (&) Jro 12 12H LHITH] 15K 3.86 3.9
49 JFEARLWZT (B7) it 12)J12H LA17H 3.09 58.7 62
50 JFEARLWZT (B7) it 12 12H LH17H 2.99 56.3 59
51 JFEARLZT (87) it 12112H LH17H 2.56 51.3 54
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J/CEVIN 10Bq, Kg
45, 50Bq, Kg
— AR 100Bq, Kg
FLIR £ 50Bq, Kg




